Example on concyclic points
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Let JAQP =9

O0QLM =9 alt. Os, AQ // LM
OCLM =90° -9 adj. Us on st. line
OPLM =180° -9 adj. s on st. line

~UCLP =90° = CMP by construction

C, M, L, P are concyclic converse, [Is in the same seg
UPCM = 180° — JPLM opp. U, cyclic quad.
=0
0 OAQP=6=[0ACP
A, Q, C, P are concyclic converse, [s in the same seg
[ P lies on the circle.
Join BP and NL.
(ONBP =6 ext. [J of cyclic quad.

~~UBNP =90° =0UPLC by construction

UB, N, P, L are concyclic  ext [J = int. opp. [J

ONLP =6 (s in the same seg.
0 UOAQP =6=0UNBP
AQ /I NL corr. [s eq.
"+ AQ// LM and AQ // NL
U NL/I LM transitive property of parallel lines

O N, L, M are collinear.

UCEH + LUCDH = 180° given

UC, D, H, E are concyclic  opp. U supp.
Apply the result of (i) to ACEH with P = D.
X, T, S are collinear.

UBFH + UBDH = 180° given

U B, D, H, F are concyclic opp. U supp.
Apply the result of (i) to ABFH with P = D.
Y, X, T are collinear.

0 S, T, X, Y are collinear.
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